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“Effective” Fl “efficient” #4417 “effect ZR” AR K, “effect” K HEHTI T iE,
JRE A “SEEL. AR o EIARTEEG, ARG LR HVEFRE,  “effective”
' “efficient” 2[RI & 1R KX A

B, “effective” MEEZ “ARER” , 18 “B3 VAR R” ; H “efficient”
SRUEAOEH ROR, T B AR IR .
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Example

John is a project manager for a tech company. His team are working on an app that creates
effective workout routines. The main goal of the project is to design an efficient system
that saves time for the user. John has discovered that a new law about user data protection
will become effective just after the app is completed. John is efficient, so he has asked his
team to modify the app to fit the new law before its launch.
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EXBOEH, A “effective” F1 “efficient” 43 I B T PR . TE A £ 580 A 4th [ BA
TR BN HFRFE, HEI T “effective” : His team are working on an app that creates
effective workout routines. IXH, “effective” F8fd & 11-kIFe “HROM” H B AT 1%
Bk, B P IR RCR

fER—H)iEH:  “The main goal of the project is to design an efficient system that saves
time for the user.” “Efficient” 7EIX HLuR i 295 1K) I A R G B E R IFAMNR “H R
effective” , 1 HIGER “BAL1 efficient” , M9 H 15 & B [A]

TEFE R — DRI AR R VR, BB T “effective” : John has discovered that a new

law about user data protection will become effective just after the app is completed. X H,
“effective” HIEEIFAZ “HRAK” , MAdds VA FEHEK” , 1M “efficient”
HBAXZE o

BAEREN “IPFEA K., JREm, metdtiar TE, (HE173h” RN ZH
“efficient” o tbtn EIABEBOE B )G —5]): John is efficient. 2 /p FAAE 5 .

BAIRALE— TR “effective” F1 “efficient” Z[RIFKIX . BE4e, “efficient =2k
()" FH)—E 2 “effective BN , T “effective H R FHWENA—EHB 2
“efficient FRLA” 5 HIK, “effective” REEHRIEA “HWER” , ki “Z4WfF
JTR. A drug is effective.” , TEH AREHRIEAEN, (H “efficient” MIBERT LA4E “ R4t
MERERE S, WaTLdEN “HDHEARE, BT « wfa, “effective” T LUE
CFIREIAERUT” , “efficient” NIRHIXZEE Y.
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